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Sciecne
{iy Answer all the questions
(i)  Select the most correct or most appropriate answer from the given answers

(1), (i1), (iii), (iv) from question no. 01 fo 40. Put (x) Mark on the relevant
answer in front of the question number in the answer sheet provided.

i What is the gymnosperm out of the following ? : _.
I. Cocount ii.  Cashew ifi. Iaggarv iv.  Cycas
2. Which physical quantity is defined as the 'rate of change of dlsplacemeut"?
i. Velocity ©~  ii. ~ Deceleration iii. Acccleratmn iv. SDeed
& What is the metal that emits a gaseous product due to combustion in air ?
i. Na 13 i Mg ii. Ca iv.,. P
4. What is the substance that is not present in plants ? _
iy Glycogen i Lipid ifi.  Protein iv. Enzyme
5. What is the compound that have a pH value less than 7 in and aqueous
solution? : :
i, NaxO ii. HNO; i, Mg(OH), iv.  NaCl
6. - Which molecule a given below has a double bond ? ' :
1. H» i N2 i 2 : iv. Cly
7.- Which answer givén below shows total internal reflection ?
air : | I/gr’”. . | water l air
 water // l water . /| i it x’/} water
i 3
3. Whlch of the following is a chemical change ?
i. Dissolving of NaCl (Salt) crvstais in water
il. Evaporahon of water '
iii.  Iodine dissolving in alcohol
iv.. - Rusting of iron j
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9, What is the organizational level in the biosphere to which the non living
environment belongs ?
i. ‘Eco system _ _ ii. Population
iii.  Community : iv.  Individual
10.  What is the element that the highest first ionization energy ?
i NEEe T e e i e iv. Ar

11.  Given below are some animals found in the home garden.
Frog, Iguan, Junglefolw, Gaint squairrel (Dandulena),

e The vertebrate groups that the above animals belong in the respective
order is,
i. Reptilla, Amphlbw Mammalia, Aves
ii. Amphibia, Reptilia, Aves, Mammalia
iii. Amphibia, Aves, Reptilia, Mammalia
iv. Amphibia, Mammalia, Aves, Reptilia

12.  Whastis the concentﬂﬁon of Cl- in solution of 1 moldm- Mgﬂg

i.  0.5moldm? ii. 1 moldm-?
ii. 0.1 moldm-3 iv. 2 moldm3
® Use the given diagram to answer question no. 13 and 14

Displacement of 4
particies T

/J\\. _ f ‘\
Distance
| \«_// / travelled
=
13. Whatis the letter/s represenhmg the amplitude of the above wave ?
1. OA i. OB 1ii. D iv. E

@

- 14.  If the frequency of the above wave is 20Hz, What is the distance travelled by
the wave during 1 second ?
gk 20x 20 em ii.20/2x20cm  ii. 20 x 2x20cm  iv. 1/20x 20 cm

15.  What is the mass of 0.5 mol of NaClg ?

(Na=23, = Cl1=355
i,  585g i, 117g i, 585g/2.  iv. 585
16.  Dancing by listening to a beat of a drum is two co-ordination activities done

by the brain. What are the two parts. of the brain that helps the above twc
coordinations respectively.

L. Cerebrum and cerebellum
ii. Medulla oblongata and cerebrum -
iii.  Cerebellum and cerebrum
iv.  Cerebellum and medulla oblongata

gggradeiiggenc@paﬁ.zglg R et e e G D S st



18.

19.

21,

- Dy

23,

24.

|
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What is the common feature to both Annelids and Arthropodes ?
i. Presence of a wet skin - :
ii. Having jointed appendages

iii.  Having a segmented body

iv.  Presence of a chitinious exoskeleton

i

i

4
\éf\

The kinetic energy of an object of mass 10kg, moving with a certain velocity
is 20]. What could be the velocity of that ob;ec’s ? ' :
1. Ims-? ii. 2ms-1 iii.  4ms?t - iv. . 8ms!

The boiling point of N2 gas is - 183°C. The value of that temperature in
Kelvin is,
i. 32K i, MoK iii. 273K iv. 456K

The place where epethelial tissues that perform a secretary function can be
found.

i Wall of the bowman's capsule  ii.  Wall of the bladder
iii.  Inner wall of trachea iv.  Inner lining of blood
capillaries

The mass of a carom disc is 10g. What is the momentum- Of it when it is
moving with a velocity of 20ms17?

i. 10x10x20 kgms'! ii. 10 x 20 kgms-!
100 S it

il 10 x20 kgmsl ~iv _10_x20% kgms™
1600 - 1000

Given below is a circuit diagram of a circuit made b\ connecting 4 bulbs

SR

o
2
4 0™ 2 Q
Select the pair of bulbs that let an equal current to flow throu gh them.

I AC _ ii. AD - ii. CD iv. BC

Find the molar fractmn of water of a solutxo:n made bV dissolving 2 moles of
Nacl with 8 moles of water. L

1. 8 _ H: 2 B i 2w RS P

10 - S5 - e el

What is the answer that carries only the plants that show natural
parthenocarpy? _ (5

i Breadfruit and grapes ' ii. Pine apple and Banana
iii. Pomagranate and Pmeapple ' iv.  Guava and appale

Select the pair of compounds W1t}1 ionic bonds : : :
i. AlCl; and PCls : T EL T CuB0) and HICL
iii. MgClz and NazO : iv. - Co(NHa2) and CHsOH
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27,

78,

29.

30.

1. .

Given below are 3 statements related to domestic electric circuit.

a. When an electric ghortagc occurs in an appliance, the isolator gets
disconnected.

b. Both live and neutral wires are connected to the residual current
circuit breaker

C. The switch is connected only to a live wire

Out of the above, the correct statements are,

i. Only aand b . ii. Only aand ¢

iii.. Onlybandc : ~iv. alla,bandc

Which answer correctly shows the direction for the frictional force, When a
whee; is rotating on a rough surface (U - Pn»;t;onal Force)

g QF . @ i, @ iv. ( )
: _ : . e N o
- i AN <

Which of the following is a single_displ_ac_ement reaction ?

i. Burning a Mg Strip in air

ii. Putting a piece of Cu into a ﬁag NOs golutﬁon

iii.  Adding a Na2SO; solution to BaClz solution
iv.  Putting a piece of Cu to a MgSOs solution

What is the advantage of using molecular biotechnology ?

i. Production of peniciline as an antibiotic

ii. = Bacteria is used to decompose organic substances
iii.  Fermentation of alcohol using micro ~ organisms
iv.  Using bacterial species to produce human insulin

25g of water absorbed by the root system of a coconut p}ant is carried up
along the steam upto a height of 20m. Find the work done against the

g[E‘Vlf‘y’
25 x_ZO J ii. 75x 10x2017 iii. 25x10x2027 v, 25x10x201 J
10{)0 : : 1000 i - 1000

A fixed resistor of the resistance in between 110 & ~ 130 & is is given below.
Find the answer that gives the colours of ABC and D in the correct order.

_ (Blank = 0, Brown =1, Red =2, Gold = 5%, Silver 10%)

1. Red, Brown, Brown, Silver

ii..  Brown, Black, Brwon, Silver e

iii.  Brown, Red, Black, Silver : M\D B
iv. = Red, Brown, Red, Silver Al v

Gas bubbles evolve i‘apidly when the lid of a soda bottle is opened, What is

 the correct answer relevant to this phenomenon ?

i. The solubility of a gas is high when the pressure is low

i The solubility of a gas.is high when the pressure is high

iii.  The molar fraction of COz in soda is low when the lid is closed |
iv. The molar fraction of CO» in soda'is h1gh when the lid is opencd
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36.

38.
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AB and C are the levels upto which a hydrometer immersed when it was

floated in there different liquids of different denbmeb Cis the 1evel wha,n it
was floated in sea water.
What is the answer that gwes thr_ liquids A and B Carrecﬂv

1 A - Coconut oil B Kerosene oil

ii. A - Coconut oil B  Water <

iii. A - Water Ritsiltdy ' Coconut oil || «— hydrometer
iv. A - Water B K_erosene oil fm

Given below is a draft of u}me organs in the dlgcsuva uystcm Sdaci' the
incorrect statement about the blood vessels X and Y .

i. = The glucose concentration of X is i X \]/
greater than the glucose connectration of Y T Liver =5
ii. X has the highest urea connectration wtarar o B g . Aorta
iii. Y has more amino acids than X venacav ¥—> i1
iv. Both X and Y vessels have valves T
’[" Intgstine \L

What is the correct path of the reflex are during a reflex action

i Receptor —= effector —————— Sensory neurone —p Spinal cord

i, Receper - Sensory neurone —# Spinal cord —¥ Motar neurone
iii. Receptor —p Motar neurone — Spinal cord = Sensory neurone
iv. Effector — Sensory neurone — Spinal cord —* Metar neurone -

Select the correct statement regarding the rectifying diode

i, There should be minimum two dry cells in order to flow a current
through a diode

it. Electron flow a current through a diode is from anode to the cathode

iii. A current can be passed in both directions through a diode

iv. The depletion layer becomes narrow when the diode is forward biased

Consider the following statements about an object at equilibrium under 3 co-

“planar forces

A - The resultant of the 3 forces is zero

B - The three forces meet at one point

C - The three forces are parallel to each other

QOut of A,B and C, the one/s that are always true is given in,

i Only A ii. Only B iii. OnlyAandB iv. AlABC:

A plant which was kept at dark for two days in then kept under sunlighit for
6 hours after arranging as shown below. What is the factor that is provided
unequally for the 2 leaves, Aand B? '
i Water :

ii.  Carbondioxide ’
(i Oxygen . - N S
v, Chlorophyll KOH ——eemy




a5

0.1 mol of a certain orgamc compound has a mass of 3.2 g. This organic
compound could be, (C=12,)=16,H=1,Cl=35.5)

i. CHsOH i, CCly

iii. CHCly ' iv. CH;OH

Select the incorrect statement about the anrgv pyrarnid

i Energy pyramid is not always upright
ii. Energy pyramid shows nutritional relationships in the ecosystem
iii.  Energy flows uni - directionally in the energy pyramid

iv.  Ateach tI‘Gpth level 90% of energy is wasted.
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Answer all the questions in Part A

{®
{if  Answer only three questions in'pé_rit B
Part A - Structured Essay
(A) The cor_j?’sp{)sition of the 'earth‘_éa atmosphere changes due to the effect of

human activities such as establishment of animal farms, combustion of fossil

fuels and deforestation. The following table shows the variation of the

concentration of carbon dioxide during the period of 1984-2014 and the

corresponding variation for the temperature during that period.

i
|

Year Atmospheric CO» Rise of Harth's
concentration (ppm) atmosphere (°C)

1984 346 : 0-1

3854 L PR L 368 0-3

2004 = 373 : 05

2014 400 : 0-8

ii.

1ii.

1

According to the above table, what could be thc main human activities
that lead to the increase _of COz concentration from 1984-20147
According to the data .gi'ven in the table, calculate the increase of the
CO» concentration dqr’mg the time period from 2004-2014 relative to
the time period from 1984-1994.

With the increase of CO; concentration ‘in the. atmosphere, the

temperature of the earth also has increased. What is the phenomenon

responsible for this?

style and minimizing the harmful effects caused to the environment.
Accordingly, write down the actions that can be taken in the following
e ke s _

(a)  Generation of electricity  ........ el et Sl I S e Bl Mot Bl '
(by: Agriculture s :

1]
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Health and environmental problems have arised due to the increase of solid

waste matter added to the environment and the inability fo manage those

solid wastes in a correct rmanner.

{) Name a, h,éav‘; metal that is released to the env fironment by the
discarded CFL bulbs.

(i) ‘Name the human organ that has the h;ghest effect due to the above
heavy metal :

(iiiy (a) Name a concept which was accepted at present regarding waste

management ol '
(b)  Petrol is produced using disposable polythene. Name the step
- to which this action is belonged in the above concept.

Given diagram shows an eco - system ina pond .

’}T"{'\,‘ :
4 3 \
// 'L\\\
W \&l by :

(1) What is the term used to denote all the living organisms in an
‘eenEyBtemIP L e S B S e e s s s
(ii) Write down an interaction that can be seen ba_hvcen living and non -

living components in the above ecosystem.
(iif) Some animals that are living in the pond are given within the bracket
using those animals, complete the following food chain. ("Diya Naya,
~ Tadpole, Hydra, Mud skipper) '
aquatic plarts ——— X —s "Kawaiya'———Y
(iv) If "Kawaiya" gets 20 ] energy by eatmg X food calculate the energv
that "X hag? s R s L s e o
(v)  Name the given energy pyram1d

(gm“z) S

2|
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MNutrient

Several biochemical reactions related to the eénd products of nutrition
digested by the digestive system and the relevant mc1dent5 are glve in

i)

(iii)

(iv}

B M

(i)

the following diagram.” -~ =, . Sdiypeal
S| (S cel ;m
> Amino | Absorbed by |, ‘organell . | - SR
| add | blood -
> (T) Organ 5 Urea S Kidr;é.yg_m} Exurea‘fe
' : | | | withurine

Name the "nutrient" of the above diagram

Name the enxyme present in pancreatic juice that conﬂ‘lbu}es to the
digestion of the above nutrient O B R e o
Name the cell organelle, "S" and the organ, 'T"

(@) Cell organelle"s" ... e e AT Aot e s

(b) OrganT oo e e LR s e s SN o

Urine production is done in 3 steps by the neptions present wi thin the
kidneys. '

(1) Mention the 1% step in urine production

(i)  Name a component in blood which is not filtered during the 1st
step of urine production.

Write down the Ietter correspond to each animal in front of the feature
that is shown by each of them 1relev:1*1t) :

@

(@)  Having a chitineous exoskeleton

(b)  Having a vertebral column
(c)  Diploblastic

- Write the letter correspond to the animal who belongs to the phylum

that shows evolutionary relationships with the phylum to which the
animal "Q" belongs.

(C©)  Write down the answers using the given table

Type of permanent Tt Peatu’re
tissue : ; ' '
S e Edges of cell waiis are thtckened with
' | cellulose
T Composed of enly non living cells
U Composed of several cells that are different to |.
each other
A% | Composed of the large central vacuole
i inter cellular spaces present

3]  Grade 11 Science - 2013 Western Provinee



Name the tissue that is responsible for translocation

Name 2 fun-chom of the tissue "V"..,......‘.‘.....,,......; ....................... 0
Write down another difference between the cells present in Lhe Hssues

Five elements belongs to the second and third periods of the periodic

‘table are given below. The elements are not represented by their

standard symbols.

1?‘0 .
R_ST

(Q is the element with the highest eiex,tm‘lecraﬁvm)

gl
Write down the electrenic configuration of the element 'S'

Among the above clements, Name the element with the maximum
first ionization energy.

Is the compound fo“med by the element A with hydrogen, polar or
non polar?

Chromatography can be used to identify whether the colourings added to a

food item is approved ones or not. -

E;

i,

What is done in order to make the chamber (boiling tube) saturated
with the solv'en% vap.our durmg the above a.ctwlty AR

The _Eollowmg diagram shows how the coloursa are. &,eparate'fm on the
paper strip at the end of the activity. '

P - Food sample with approved colourin gs . ca=p
v - food sample that was tested il g o o g
abe - Colours present in the food sample Y e
: i 2 i .._ i : —”r
X foad ' Y f
sampie = G s .

‘Menton the a_pp'ro'éed colourings present in the tested food sample

41|
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Srode — /]
: : Salence .
(c) . Given below is a set up used to produce COz in the laboratory

S § D D = Thistle funnel
' : - Conical Flask
i. Name the equipment 'D'

-.-‘5.-.u-‘.-a.‘----1.-.-...-1.---.1-.-1-----.-1-..-..-1..-'-1‘1--:-.-1

ii. Write down an observation that can

CaCO; + HCI be seen in the reaction occurred in E

iii. The intermediate reaction between calcium carbonate and
dilute hydrochloric acid is given below :

SEACOY +2 HObi: S CaCh w428 i oy

e Name 'P' in the above reaction

iv.  Themass of CO; gas collected in F at the end of the testis 2.2 g
~siv(ay  Whatis the number of moleb of COz collented iWF?
(€C-12,0-16) ... :
(b) . Calculate the nu_mber_of CO; molecules collected in E.
: (Avagadro constant (L) = 6.022 x 1023m01-7‘)
04. (A)  The circuit diagram gw(.n below shows how the t:ramlstor acts as a
light sensitive switch et

i. Name the equipment Xand Y

i What will be {he observation in the
= 1ED when the equlpment Yis

: =% e covered ? .............. e g e S
1. Gwe reasons for the above observation
(B . A lens can be used as a simple mlcroscope to magmfy an object.
I ‘What is the typé of lens that can be used for this purpose?:
Given below is the path of a ray traveling from and object on
through such a lens that you mentioned in questions No. I
Complete the above ray diagram to show the formation of the

5 } Grade 11 Science — 2019 Western Province



iii.  The diagram given below shows how a light ray traveling in air
' enters water after refraction

Water

(@) ; What is the value of the incident angle?....................ccooovvvronrveee..
(b)  Write down an expression for the refractive index of water

relative to the air using the above ray diagram.

(C) A train started its journey at rest moved in a stralght line path for 10 seconds
to acquire a relocity of 30ms-!

i. ,  Draw the relevant velocity time graph for the above motion

Velocity (ms-1)
N

S Time (s)

. Calculate the distance travelled by the train durmg the first 10
~ seconds.

iii.  What is the nature of the motion shown by the train ?

iv.  Whatis the velocity of the train at the 5% second ?

V. If the mass of the train is SUOGng, fmd the moment of 1t at the 5&‘
second? e ;

6| Grade 11 Science — 2019 Western Province
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Part B

05.  A) The above diagram shows a part.of a concept map build up based on the
chemical basis of life :
= A contributes mainly for the growth of the body
®= The building unit of B is monosaccharide
I. What is the element denoted as X' in
nucleic acids ?
ii. What is the biological molecule
denoted as A and mention it's
\ buiIding unit
Organis e e e compounds relevant to the
- biological molecule B are stored
in plants and animal bodies in
different ways. Give one example
each for such a compound present in
a plant body and an animal body.

iv.  Mention the regent used in the laboratory to identify the
biological compound C and write down an observation
relevant to the test, :

V. Copy the given table to your answer script and fill the blanks.

= Vitamin / Mineral | Deficiency Foods rich with the
| Symptom particular Vitamin /
' Mineral
Calcium
Scurvy
Iodine :

(B) A human body cell has 46 chromosomes and among those, 22 pairs are
autosomal chromosomes '

i. How is the 2314 pair of chromosomes known ?

i Two pairs of maternal and paternal e o el
chromosomes that determine the sex of a i S
human is given below. : ]L

_ XX Xy
a. What is the type of division take place during the
production of egg cell and the sperm ?
b. llustrate how the sex is determined after the fusion of
egg cell and the sperm during the above division using a
diagram Sy

ni.  Whattypeofa hereditary disorder is_hemophilia i
iv.  Whatis the symptom of hemophilia ?

7| Grade 11 Science - 2019 Western Province



(Q). The diagram given below shows a sketch relevant to the blood
circulatory = system which is used to show the hierarchy of
organizational levels of an organism

1. What is the organizatioﬁal level denoted as D ?
ii. Write down 2 tissues belonging to the structure named as C
iii.  Mention separately a. organism that can be found is a sample

of water taken from a pond and a micro - organism that can be
found in a stagnet water sample where stew is rottened.

iv.  Briefly explain the 'Growth' of a unicellular organism.

06. (A) Given below is a list of chemicals and equipment used to determine
the heat change of the reaction between NaOH (aq) and HCl (aq)
experimentally.

L] 50 cm?® of 1 moldm® NaOHg)

= 50 cmd of 1 moldm=? HCl (g

. A thermometer calibrated in /C

. A vessel covered with an insulated material

= Stirrer / Glass rod;

i What is the observation that can be taken from the thermometer

in the ‘above experiment ?

ii. What type of a reaction is this ?

iif. The initial temperature of reactant is 30°C. The heat change
related to the reaction is 4500]. Find the final temperature of the
mixture (Specific heat capacity of water = 4200 [Kkg?)

iv.  Write down a hypothesis used in the above calculation

V. Write down the importance of using a heat msu}ated vessel for
this experiment -

vi.  Name 2 chemical substances remain in the solution at the end

of the reaction. : e

(B) Gwen below is set up used for the eIectrolysw of CuSO4 solutlon usmg{_ ,,
carbon electrodes. i

i. Write down the ions attracted

towards the cathode of the above ‘«“";i |
Carbon iy -
ii. Mention the half reaction occurs
near the anode i
CuSO4 ~1ii.  Write down an observatlon near fhe
solution _cathodc _
iv. ~ What is the colour change that can

: be seen in the above solution
V. Write down 2 changes that should be done in the above set up
~ in order to apply copper on an iron nail.

8| Grade 11 Science = 2019 Western Province



(C)  The reactivity series has been prepared by arranging the metals in the
descending order of the1r reactivity. A part of the reactivity series is
given below.

K, Na, Ca, Mg, Al, Zn, Fe, --, -, H, Cu,Hg , Ag, Pt , Au

L. Write down a pair of metals from the above that do not show
reactions with dilute acids : :

ii. Write down the 2 metals that should come between Feand H

i.  Given below is a set up used to observe the reaction between
metals and metal salts using CuS@®; solution and p1eceb of Mg
and Al :

CuSO4+ Mg CuSOs+ Ag

= Which is the vessel that shows as colour change
b. Write down the balanced chemical equation relevant to
' the above reaction
C. Mentation the ph} sical method used to extract gold
»  metal
iv.  Mention an advantage of using coke (C) in the blast furnace

during iron extraction.

07. (A) Given below is a sketch of a playground shde found in a park. A child
of mass 40kg climb the ladder from A to B and then slip up to C.
1. Find the work done by the child
' when he climbed from A to B
ik Find the potential energy stored in
the child at B. (g = 10ms-)
iii.  Calculate the velocity of the child
when he passes the point C.
(Consider that no energy is wasted)
iv. What can be done to prepare the part from BtoC w1th
minimum friction ?

(B)  The sketch of a set up used to demonstrate the function of a direct current :
motor is given below. When its' switch is closed the ‘wind ‘wane shows a
rotational motion. |
i. What is shown as pad Q in this diagram.

1. Is the direction of current flow from P to Q or
QtoP?
iii. . What is the rule used to find the direction of
rotation of the wind vane ?
iv.  Write down a change that can be done in the setup
- inorder to change the direction of rotation of the
wind vane., -
3| Grade 11 Science — 2019 Western Province -
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Sketch of a transformer is given below

i. What is the phenomenan
. ; responsible for the current formed in
Output ; ' e the outputcircuit?
circuit Ecue Id. Calculate the number of turns that
[ J2v  should be present in the secondary
coil in order to obtain an output
\ voltage of 12 V, if the primary coil
e : has 1000 turns.
iii. = Write down an example for an instance where above type of a

transformer is used.

(D) A special type of pot called "Guruleththuwa" with a tap filled with water is
shown in the diagram given below. t
L. Write down an expression for the pressure (P)
that help the water to flow out through the tap. ._
ii. If h is 20cm and atmospheric pressure is (& Guruleththuwa
1 x 10° pa, calculate the pressin‘e at X. destiny of
iii.  How does the water following out from the tap Naisrs Lo
vary with time ?
iv.  Mention a simple strategy that can be used to
: increase the speed of the water following out by filling water into
the pot only up to a height of 25cm.
V. Mention an instance where a force is transmitted through a liquid in
day today life.
08. (A) Flower is the special structure modified for sexual reproduction in a
plant. Given below is a line diagram of a typical flower.
X, s L Give the letter correspond to the
' floral part where photosynthesis
B ' could occur.
C ii. Name the process shown as X
iii.  If the above flower is a zoophilous
D = . flower, mention and adaptation
\I F i shown by C for that.
iv.  Give the letter relevant to the floral part that does only meosis in the
production of gametes. -
v.  What is the reason for managing the above flower as a bisexual flower ?
(B) The changes occur in the ovary during the menstrual cycle of a female
reproductive system can be represented as shown below.
Day ¢ - Day 14 ' wmu:ﬁ?oipmw
{ Folhcular phiise Liteat phase 1
Lutenising Hormene (L)
L Follicle Stimndatng Honnone (FSH)
0] .
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D)

09.

il.

1il.

iv.

Given

Mention the function done by the follicular stimulating hormone
during 0 -14% day

What is the effect of LH (Lutenising hormone) durmg the Luteal,
phase

In which part of the female reproductive system does the egg cell
released from the ovary get fertilized ?

Mention a function done by the umblllcal cord which connects the
feotus with the mother

In which month does the development of the Skelton start in feotus ?
What is the viral infection that is transmitted sexually which has no
permanent treatments and also inactivates the nervous system ?

below is a diagram of a supportel used by a gymnastic player of mass

S0kg to get the initial force needed to jump down from the top of a
swimming pool.

e [ ) SSUP SESEE) RE

I Find the gravitational_'_ force act on
the player of 50kg mass at A.
ii. Calculate the clock wise moment act

\ * _' on the point O when the above
system is at equilibrium

iii.  What is the tension on the spring
when the system is at equilibrium?

A sketch of a catapult used to throw a stone is given below.

i

1i.

ii.

(A)

When the stone is kept on the rubber band and *
pushed with a force 'F' how do the three forces FI,
F2 and F stay in equilibrium ?

Write down 2 factors needed for an object to be in
equilibrium like above under 3 forces.

Write down an example for an instance where an
object is at equilibrium under 3 parallel forces.

Equal masses of CaCO; chips and powder are
separately reacted with equal volumes of dilute hydrochloric acid.

- . Time taken and mass of CaCO; used up are given in the table below.

Time (Minute) | 1 2 3 4 5 6 | 7 8 9. 19

Most

CaCO;s used
up (g) ; r

chips | 2.0 {29 |35 |3.6({39|45|46]48|48]438
powde | 3.0 |40 {45 |48 |48 |48 |48 (48 [48][48

Mention the time taken for CaCOs chips and powder to over the

. reaction with dilute HCI acid separately?

11.

1.

What is the conclusion that you can arrive by observmg the above
data ?

Write down a relationship to calculate the rate of the above reaction if
the initial mass of CaCOs is 5.6g.
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(B)

©

(D)

19 11 - 3¢9

Hydrocarbons are common among organic compounds. Given below are the
structural formula of ethene and a derivative of ethene.

1—«1\ ' /Ij. | E\M'_ /
== ;—(“
i \i . N

H e
i. What is the group of hydrocarbons that A belongs to ?
ii. What is the reason for Ethane (CoHa) to be more reactive than Ethane
(CaHg) ?

ili.  The polymer, The poly Mettra fluoro ethene (PTEF) is made by the
polymerization of large number of B molecules.
a. Give the repeating unit of PTFE
b. Write down a common use of the polymer PTFE

iv. ~ Write down a problem arise due to the usage of artiflcxal polymers.

Given bel ow is a circuit diagram of a circuit used to mvestl gate ohm's law.
e i. What is the reading for not showing any

= deflection by the voltmeter and ammeter
even though the switch 'S' its closed ?
What is the conclusion that can be arrived
from the above observation

- Mention the reason for using the
equipment 'R’ for the above activity ?

iv.  Draw the rough graph against I that you obtain by plotting the data
obtained for V and I for several occasions after making the above
c¢ircuit accurately.

V. Calculate the resistance of the income wire coil for an instance where
the reading of the voltmeter was 3V and the readmg of the Ammeter
was (.20A.

Given below is a sketch of a thermos flaks
Lid

Vacuum
Silver coloured inner wall

hot water

- external case

- The temperature of water within the thermos flask is 100°C. Write
down 2 techniques used in the thermos flask to keep the water at this
temperature preventing the heat lost.

ii. Mention another function of the thermos flask.

iii.  Boiling potatoes using steam is more efficient than boiling them in
water. Explain the reason for this.
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